AGE PROBLEM

The ratio of ages of father and son is 7 : 2. Five years ago
the product of their ages was 150. What is the age of the
father?

firk vij i dh vi; dkovuikr 7% 2 gh iikp o'k igy mudh wk; di
X.huiQy 150 FéA firk dh wk; D3k g\

(a) 30 years (b) 35 years

(c) 45 years (d) 40 years

The ratio of present ages of Rangitha and Shaheenis 6 : 5.
After 12 years the ratio of their ages will be 7 : 6. What is
Rangitha's present age?

jxark wvij "lkghu dh orelu wik; dk vuikr 6 % 5 g 12 o' cin mudh

vi; dk vulkr 7 % 6 gixid jxhrk dh orelu vk; Dk g\

(a) 60 (b) 55

(c) 72 (d) 28

The sum of the ages of father and son at present is 33.
Two years ago the product of their ages was 28. What is
the age of the father and the son?

orefu e firk wvij 1= dh vk; dk ;kx 33 gA nk 0% igy mudh wik;
db x.kuiQy 28 FA firk wvij 1=k dh wvik; D;k g\

(a) 26,7 (b) 30,3

(c) 29,4 (d) 32,1

The average age of a jury of 5 is 40. If a member aged 35
resigns and man aged 25 becomes a member, then the
average age of the new jury is:

5 InL;h; tjh dh vilr wk; 40 gh ;fn 35 o'k dh wi; dk dib
InL; bLrhik n nrk g vij 25 o'% di vik; dk 03100 InL; cu thrk

g] rk ub tjh dh viklr vi; gh

(a) 30 (b) 38

(c) 40 (d) 42

At present, the ratio of the ages of Maya and Chhaya is
6 : 5 and fifteen years from now, the ratio will get changed
to 9 : 8. Maya's present age is:

orelu €] ek;k vij Ni;k dh vi; dk vuikr 6 55 g vij ve 1 iizg

o' ckn ;g vuikr cnydj 9 % 8 gk tk,xiA el;k dh orelu vi; gh
(a) 21 years (b) 24 years

(c) 30 years (d) 40 years

I am three times as old as my son. 15 years hence, I will
by twice as old as my son. The sum of our ages is:

e viu ¢V I riu xuk cMk gA 15 Tky cin] ejh me ej cV 1 nkxuh
gk T, XM geljh wi; db jkx gh

(a) 48 years (b) 60 years

(c) 64 years (d) 72 years

The ratio of present ages of Ramita and Satyajitis 9 : 7.
After 9 years the ratio of their ages will be 5 : 4. What is
Ramita's present age?

jferk vij IR;thr dh orelu vk; dk vuikr 9% 7 gh 9 o'% cin mudh

vi; dk vuilkr 5 % 4 gixid jferk dh oretu wk; Dk g\

(a) 81 (b) 63

(c) 56 (d) 80

The sum of the ages of brother and sister at present is
21. Five years ago the product of their ages was 28. What
is the age of the brother and the sister?

orelu e Hib wij cgu dh me dk ;kx 21 gh ikp Iky igy mudh

10.

11.

12.

13.

14.

15.

16.

Practice Set

me di x.kuiQy 28 FiA Hib vij cgu dh me D;k g\

(@9, 12 (b) 6, 15

(c) 7, 14 (d) 8, 13

The sum of the ages of husband and wife at present is
60. Four years ago the ratio of their ages was 7:6. What
is the age of the husband?

dd

(a) 28 years (b) 32 years

(c) 42 years (d) 38 years

The brother is elder to his sister by 6 years. Seven years
ago the product of their ages was 72. What is the age of
the brother?

Hkb viuh cgu I 6 o'% cM gA Tkr o'k igy mudh me dk x.luiQy

72 FikA Hib dh me D;k g\

(@) 13 years (b) 12 years

(c) 6 years (d) 19 years

The ratio of present ages of Ratnabali and Shaukatis 8 : 5.
After 22 years the ratio of their ages will be 10 : 9. At
present, what is Ratnabali's age?

JRukeyh vAj “lkdr dh oretu vk; dk vuikr 8 % 5 gh 22 0'% cin mudh

vi; dbowvuikr 10 % 9 gdd orelu Te; e jRuicyh dh wk; fdrun g\
(@ 5 (b) 14

(c) 81 (d) 8

The ratio of present ages of Ranjini and Shahid is 5 : 4.
After 13 years the ratio of their ages will be 6 : 5. What is
Ranjini's present age?

jitun vij “lfgn dh orelu wvi; dk vuikr 5% 4 gA 13 0'% cin mudh

vi; dk vuikr 6 % 5 gixkd jtuh dh orelu vik; D;k g\

(a) 52 (b) 65

(c) 60 (d) 32

The ratio of present ages of Rangana and Sayed is 7 : 5.
After 11 years the ratio of their ages will be 4 : 3. What is
Rangana's present age?

jxuk vij Thn dh orelu vk; dk vuikr 7 %5 gh 11 0% cin mudh

vi; dk vuikr 4 % 3 gixid jxuk dh orelu wk; D;k g\

(a) 55 (b) 77

(c) 70 (d) 96

The ratio of present ages of Rambha and Sarvesh is 8 : 5.
After 7 years the ratio of their ages will be 5 : 4. What is
Rambha's present age?

jHk vij To™k dh oretlu vk; dkvuikr 8 %5 gh 7 0'% cin mudh wi;

dk vuikr 5 % 4 gkxid jHik dh orelu vk; D;k g\

(@) 5 (b) 30

(c) 8 (d) 48

The ratio of present ages of Ramya and Saurabhis 8 : 7.
After 10 years the ratio of their ages will be 12 : 11. What
is Ramya's present age?

JIEsk vij DkjH dh orelu vik; dk vuikr 8 % 7 gh 10 o' cin mudh

vi; dk vuikr 12 % 11 gixid jiE;k dh orefu wk; Dk g\

(a) 20 (b) 14

(c) 63 (d) 45

The sum of the ages of husband and wife at present is
100. Ten years ago the ratio of their ages was 9 : 7. What
is the age of the husband?
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orelu e ifr vij 1Ruh dh vk; dk ;kx 100 g nl

vi; dk vulkr 9 % 7 FiA ifr dh me D;k g\

(a) 45 years (b) 55 years

(c) 65 years (d) 40 years

17. The ratio of present ages of Ratna and Shantanu is 5 : 4.
After 19 years the ratio of their ages will be 10 : 9. What is
Ratna's present age?

JRuk Wi “lru ol orefu wi; dk vuikr 5% 4 gA 19 o" d cin mudh

vi; dk vuikr 10 % 9 gixid jhuk dh orelu wk; D;k g\

(@ 19 (b) 15

(c) 9 (d) 72

18. The ratio of present ages of Rasika and Shamiis 7 : 5.
After 17 years the ratio of their ages will be 12 : 11. What
is Rasika's present age?

Jildk vij “keh dh orefu vk; divuikr 7 %5 gA 17 o'k cin mudh
vi; dk vuikr 12 % 11 gixid jfldk dh oretu wvk; D3k g\
(@5 (b) 80

(c) 16 (d) 7

19. The sum of the ages of husband and wife at present is
56. Ten years ago the product of their ages was 320.
What is the age of the husband and the wife?

orelu e ifr vij ifuh dh me dk ;kx 56 gh nl Ty igy mudh

o' igy mudh

me dk x.uiQy 320 F 1fr vij 1Rut dh me D;k g\
(a) 28, 28 (b) 32, 24
(c) 30,26 (d) 29,27

20. The sum of present ages of A and B is 11 times the

difference of their ages. 5 years hence, their total ages
will be 13 times the difference of their ages. What is the
present age of elder one?

A vij B dh orelu vk; dk ;kx mudh wvi; d vrj dk 11 xuk g
5 o'k cin] mudh dy vk' mudh vk; d wvrj I 13 xuk gixih cM
oty dh orelu wk; D;k g\
(a) 35 years

(c) 25 years

(b) 20 years
(d) 30 years

21. L is as much younger than M as he is older than N. If

the sum of the ages of M and N is 60 years, what is
definitely the difference between M and L’s age?

L,M I mrukgh N gftru ogNI cM oh ;fn M vij N dh
vi; db ;kx 60 0% g] j L dhvi; d clp fuf*pr =1 1
fdruk vrj g\

(a) 3 years (b) 2 years

(c) S years (d) Can't be determined

22. If three times of the son’s age in years is included to the

mother’s age, the total is 75 and if two times of the
mother’s age is included to the son’s age, the total is

80. So the son’s age is?
;fn o'k e cV dh me dk riu xuk ek dh me e t th,] rk
759 vj ;fncV dh me e ek di me dkn t,] rk
80 gA rk cV dh me D;k g\
(a) 15 years
(c) 14 years

(b) 18 years
(d) 22 years
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